MR. Waddell’s Physics Honors Acceleration Test 1

Name



_____________
 Date ____________ C.P. ______________
Directions: Work these problems on your paper. Place your answers on this paper. Also, draw circles or rectangles around your answers on your paper. Show all work. PLEASE BE NEAT!

1. Shelly starts from rest on her bicycle at the top of a hill. After 7.3s she has reached a final velocity of 18m/s. What is her acceleration?
a = _____________________________
2. A ball is rolling at 5.85m/s over level ground when it encounters a ramp, which gives it an acceleration of -0.975m/s2. If the ramp is 0.825m long, what is the ball’s final velocity when it reaches the top of the ramp?
v = _____________________________

3. A bicyclist is traveling at +35 m/s when he begins to decelerate at 4.5m/s2. How fast is he traveling after 6.0 seconds?
v = _____________________________

4. A squirrel is 5.85m away from you while moving at a constant velocity of 2.51m/s away from you. How far away is the squirrel after 6.25 seconds?
v = _____________________________
5. Isaac throws an apple straight up from 1.32 m above the ground, reaching a maximum height of 41.5 meters.  Neglecting air resistance, what is the ball’s velocity when it hits the ground?
v = _____________________________

6. A tennis ball is thrown straight up with an initial speed of 61.5mi/h. It is caught at the same distance above the ground as it was initially thrown. 
A) How high, in meters, does the ball rise? 

S = _____________________________

B) How long does the ball remain in the air?
  T = ____________________________

7. A meteor falls from the sky to the Earth.  The meteor already had an initial velocity downward when it was spotted.  If it hit the Earth at 395 m/s after being seen for 28.0 seconds, then what was the initial velocity of the meteor?
vi = _____________________________

8. An arrow leaves a bow with a speed of 48.5 m/s.  Its velocity is reduced to 34 m/s by the time it hits its target.  How much distance did the arrow traverse in 2.85 seconds?

S = _____________________________

9. A ball rolls down a hill with a constant acceleration of 3.34 m/s2.
A) If it starts from rest, what is its speed at the end of 4.51 s?
v = ___________________

B) How far did the ball move in that time?
S = ______________________________

10. A sandbag dropped from a balloon ascending at 4.45m/s lands on the ground 12.0s later.  What was the altitude of the balloon at the time the sandbag was dropped?
S = _______________________


